Question - convolution of two functions

I still can't get the exact sin(w,t) result through a detailed computation:

g(t) = cos(w,t) L —G(w) = \/g O(w —wy) +6(w+w,)

h(t)=ﬁit<L>H(w)=%sgn<w)
then
G(w)H(w)z\E 6w —wy) + 6(w + ) -%sgn(w)%sgn(w) 6w — ) +6(w + wy)
%6(w—w0)+6(w+wo) L w0
: _% §(w—w,)+8(wtw), w<0
but

F sin(wyt) = J\/% O(w—w,) —o(w+wy)
and I cannot figure out why
T @
i 5 O(w—wy) —6(w~+wy) =5 O(w—wy) + 6(w+w,)
or
T @
j > O(w—w,) —6(w+wy) =3 O(w —w,) + 6(w + w,)

as the differences are stressed in red.
Why | can't get it right?



